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\documentclass [dvipdfmx]{beamer}
\usefonttheme{professionalfonts} % A7+~ hABFE LAV
\usepackage{tikz}

\begin{document}
\foreach \th in {0,10,...,360} {
\begin{frame}

\begin{tikzpicture} [}

declare function={

myx(\t) = \t - sin(deg(\t)); Z HAIRDEZED z
myy(\t) = 1 - cos(deg(\t)); % HHIRDEZEDR y

}
]
\draw[->] (-1.5,0) -- (8,0) nodel[below] {$x$}; / & =
\draw[->] (0,-0.5) -- (0,3) nodel[left] {$y$}; % &y
\draw (0,0) node[below left] {$\mathrm{0}$}; 7/ R=
\draw ({rad(\th)},1) circlel[radius=1]; % &H*BH
\draw ({rad(\th)},1) —- ({myx(rad(\th))},{myy(rad(\th))}); % &N Z2HD¥E
A%
4% BICB T 2R OBENETH 5 M,
\draw[green] ({myx(rad(\th))},{myy(rad(\th))})
arc[start angle=270-\th, end angle=270, radius=1];
i
A% BICH T 2 EROBEH.
\draw[green] (0,0) -- ({rad(\th)},0);
V4
%% B DB,
\draw[blue] plot[domain=0:{rad(\th)}, variable=\t, smooth]
Hmyx(\t) }, {myy \D 1) ;
\end{tikzpicture}
\end{frame}

} % \foreach IL—TD#bH Y
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